Chapter 1

The Nature of International Business

True/False Questions

1.
Globalisation of business involves the creation of wealth that benefits nations and individuals worldwide.  

ANS: T

2.
Globalisation can help move a country from a developing status to a developed status.  

ANS: T

3.
The World Bank, IMF and WTO believe that globalisation is responsible for worsening poverty nationwide.

ANS: F

4.
Failure to become a part of the global market assures a nation of declining economic influence and a deteriorating standard of living for its citizens.


ANS: T

5.
Economic isolation is not only possible but is probably the only way to survive the ever-increasing globalisation impact.
ANS: F

6.
Technology continues to increase the reach and ease of conducting international business.  

ANS: T

7.
Manufacturing firms include banks, insurance and consulting firms.

ANS:  F

8.
International business opens up markets to competition.

ANS:  T

9.
International business is a science rather than an art.


ANS:  T

10.
The globalisation of business brings new opportunities and threats to governments, firms and individuals.  

ANS: T

11.
International business consists of transactions that are devised and carried out across national borders to satisfy the objectives of individuals, companies, organisations and governments. 

ANS: T

12.
When considering international business, the basic principles of business still apply, but their applications, complexity and intensity vary substantially.  

ANS: T

13.
Ever since the first national borders were formed, international business has been conducted by nations and individuals.


ANS: T
14.
The immense growth of the Roman Empire occurred predominately because of its military might.


ANS: F
15.
International business is a relatively recent trend.  

ANS: F
16.
Although internal business helped the Roman Empire’s growth, inability to support the huge army caused the Empire’s decline.


ANS: F
17.
The sales of foreign affiliates of multinational corporations are now twice as high as global exports.  

ANS: T
18.
Global links bind counties, institutions and individuals along with trade, financial markets, technology and living standards.


ANS:  T
19.
It is usually fairly easy to identify a product’s country of origin.
ANS: F
20.
Service firms do not play a significant role in international business.  

ANS: F

21.
International business has brought a global reorientation in production strategies. 

ANS: T
22.
Japan receives more of its GDP from International trade than the United States does.


ANS:  F
23.
The United States has been a world debtor since 1985. 
ANS: T
24.
From the 1960s to the 1990s, the trade role of primary commodities has increased precipitously while the importance of manufactured goods has decreased.  

ANS: F
25.
Isolationism has resulted in the development of trading blocs.


ANS: F
26.
Recently, there has been a shift of manufacturing from industrialised states to states with emerging economies.


ANS:  T
27.
Japan exports approximately 60 percent of its GDP.


ANS:  F
28.
The United States has gained in prominence as a market for the world but has lost some of its importance as a supplier to the world.  

ANS: T
29.
The United States has seen its share of exports increase in recent decades while its share of imports has significantly decreased.  

ANS: F
30.
On the microeconomic level, participation in international business can help countries balance their trade accounts.


ANS: F
31.
As a result of global competition, the European steel industry has had to re-plan and reorganise with great pains.


ANS: T
32.
Urbanisation has resulted in the availability of international products and services all around the globe and to varying types of consumers, rather than just the elite.


ANS:  F
33.
Geography focuses on answering the “why?” and “how?” questions to assist international business activities.


ANS: F
34.
Whereas the theme of movement encourages consideration of different characteristics within a place, interaction provides a structure for considering how different places relate to each other. 


ANS: F
35.
A region is a set of places that share certain characteristics. 

ANS: T
Multiple Choice Questions

1.
Which of these is NOT a belief held by critics of globalisation?

a.
It relieves the massive debts of developing countries.

b.
It increases the wealth of corporations.

c.
It increases the wealth of investors.

d.
It spoils the environment.

e.
It supports dictators.

ANS: a

2.
International business is important because ______.

a.
it creates economic isolationism 

b.
failure to become a part of the global market assures a nation of declining economic influence 

c.
failure to become a part of the global market assures a nation of a enhanced standard of living for its citizens

d.
it supports dictators

e. 
it protects environment

ANS: b

3.
International business activities

a. benefit everyone to the same degree.

b. benefit just the wealthiest countries.

c. benefit just the poorest countries.

d. benefit manufacturing countries more than mining countries.

e. benefit some countries more than others.

ANS: a


4.
International business is important to consumers because it

protects domestic marketers.

protects the consumers from fraud.

can permit lower prices.

allows westernisation of values.

offers jobs to consumers.

ANS: c

5.
All of the following are benefits associated with participation in international business EXCEPT

a.
firms can learn from foreign competitors.

b.
firms can achieve economies of scale that are not attainable in domestic markets.

c.
individual cultures are protected by law.

d.
new choices for consumers.  

e.
lower prices.

ANS: c

6.
Which of the following statement is false?

a.
International business opens markets to competition

b.
International business activities benefit everyone to the same degree

c.
International business offers consumers new choices

d.
International business facilitates the mobility of labour and capital 

e.
International business allows for lower prices for consumers.

ANS: b
7.
The basic concept of international business entails ________.

a.
focusing on short-term rather than long-term profit because international trade is very risky and unstable

b.
adaptation to different laws and cultures in the context of meeting consumers’ needs

c.
following identical procedures in foreign and domestic markets

d. 
translating any pertinent product information on instructions to the appropriate language

e. 
keeping transactions within national borders


ANS: b
8.
Direct foreign investment includes ________.

a.
wholly owned subsidiaries

b.
exports

c.
imports

d.
turnkey operation

e.
bartering

ANS: a

9.
Which of these highlight the differences between domestic and international business?

a. Transactions are in credit as opposed to cash.

b. Licensing and franchising are included in business.

c. Management contracts are in a different language.

d. Transactions are across national boarders.

e. Employees are multilingual.

ANS: d
10.
Which of these is NOT a type of international business?

a.
Licensing

b.
Franchising

c.
Management contracts

d.
Employee contracts

e.
Import/export trade
ANS: d
11.
If a German electronics firm is trying to decide whether to export goods or to build a firm in a foreign country, which question is most pertinent?


a.
How will our idea, good, or service fit into the international market?

b.
Should we enter the market through trade or investment?

c.
Should we obtain supplies domestically or from abroad?

d.
What product adjustments are necessary to be responsive to local conditions?

e.
What threats from global competition should be expected and how can these threats be counteracted?

ANS: b
12.
The immense growth of the Roman Empire occurred mainly through the

a. military might.

b. linkages of business.

c. scientific inventions.

d. lack of business in Rome.

e. supporting pirates pushing boundaries.

ANS: b
13.
The growth of the British Empire can be attributed to ________.

a.
its relationship with Spain

b.
its efficient transportation, intensive trade and insistence on open markets

c.
its military forces

d.
the use of the Pax Romana

e.
the elimination of hard currency

ANS: b
14.
Foreign direct investment on a worldwide basis, by 2008 has:
a. increased in developing countries.
b. increased in developed countries.
c. increased in both developed and emerging markets..

d. decreased.
e. been miniscule.
ANS: c

15.
The effect of the sudden decline of the British Pound Sterling on US, Irish, Australian and European financial markets outlines the importance of


a.
globalisation.

b.
trade barriers.

c.
trading blocs.

d.
industrialisation.

e.
global links.

ANS: e
16.
Continuing advances in _____ technologies effectively have shrunk the world.

a.
biotechnology

b.
transportation 

c.
hyperspace

d.
genetics 

e.
medical

ANS: b
17.
National Automobile, Inc. manufactures parts for their car in four different countries, assembles it in the fifth country and sells the cars all around the world.  This can be credited to international business bringing global orientation in

a. production strategies.

b. communication strategies.

c. transportation links.

d. cultural strategies.

e. domestic marketing.

ANS: a


18.
Service firms are increasingly part of the international scene.  Which of these is not a service firm?

a. Consulting firm

b. Insurance firm

c. Software company

d. Automobile manufacturing company

e. University

ANS: d
19.
A US-based bicycle company builds component parts in Taiwan and Malaysia, obtains rubber from Indonesia, assembles the bikes in Mexico, markets the bikes in the United States and sells the finished bikes worldwide. The company has a


a.
domestic orientation in production strategies.

b.
global orientation in production strategies.

c.
global orientation in communication.

d.
domestic orientation in transportation.

e.
global orientation in transportation.

ANS: b
20.
Country A is specialised in mining, Country B is specialised in manufacturing and Country C is specialised in commodities, such as rubber plantations.  Which of the following will be true?

a.
Country A is likely to fall behind Country B.

b.
Country B is likely to fall behind Country C.

c.
Country A is likely to fall behind Country C.

d.
Country B is likely to fall behind Country A.


e.
Both Country A and B will fall behind Country C.


ANS: a

21.
Which of the following statements is false regarding international business?


a.
Regionalisation is taking place around the world


b.
Relative participation of countries in world trade is shifting

c.
The pace of change is decelerating 

d.
The role of primary commodities is declining

e.
The role of service industries is increasing

ANS: c

27.
With regards to composition of trade, most recently there has been a shift from 

a. service to manufacturing.

b. primary commodities to manufacturing.

c. service to primary commodities.

d. manufacturing to primary commodities.

e. manufacturing to service.

ANS: e

22.
Although international trade is increasingly important to the United States, the US influence on trade is declining because

a.
domestic disputes over trade issues have prevented the US from formulating a coherent policy on international trade.

b.
the US market share of world trade has declined.

c.
the decline in US political credibility has caused its influence on international issues including trade to diminish.

d.
the US government already has enough power to change exchange rates.

e.
the US is stepping down from its role as world leader.

ANS: b
23.
British international business outflows are important on the macroeconomic level in terms of 

a. balancing the trade account.

b. helping firms achieve economies of scale.

c. adding number of potential customers for firms.

d. lower priced goods for consumers

e. improved learning curve for businesses.

ANS: a

24.
Which of the following is a benefit of participation in international business?

a.
Firms have fewer potential customers.

b.
Firms can learn from foreign competitors.

c.
Firms are less prepared for foreign competitors.

d.
Firms have no learning curve in international business.

e.
Firms can achieve lower economies of scale than could be attained domestically.

ANS: b
25.
Firms that do not participate in international business _________.

a.
are isolated from international markets

b.
will be forced to go out of business

c.
are forced to react to the global economy

d.
are affected by economic but not political developments that occur in the international marketplace

e.
are too small to export successfully

ANS: c

26.
Failure to participate in the global marketplace may imply ________.

a.
improving economic influence

b.
enhanced quality of products and services

c.
declining standards of living

d.
lower sourcing costs

e.
all of the above   

ANS: c

27.
Which of the following is NOT an opportunity that a business firm can benefit from when engaging in global activities?


a.
Market saturation can be delayed

b.
Sourcing policies can become more variable

c.
Cooperative agreements can be formed

d.
Customers can select from a greater variety of products

e.
Competition can create the need for a firm to make adjustments

ANS: e

28.
In order to successfully enter the international market, firms need ______.

a.
an established domestic market, an awareness of global developments and an understanding of their meaning

b.
an established domestic market, an awareness of global developments and a development of capabilities to adjust to change

c.
an awareness of global developments, an understanding of their meaning and a development of capabilities to adjust to change

d.
an awareness of global developments, a development of capabilities to adjust to change and a partner in the target market

e.
none of the above

ANS: c
29.
Fundamental themes to structure geographic questions include all of these except

a.
location.

b.
place.

c.
interaction.

d.
movement.

e.
price.

ANS: e

30.
Geography focuses on answering “ __________?” questions.

a. What

b. Where

c. Why

d. How 

e. When

ANS: b
31.
In the real estate industry, it is said that the value of a place is a product of three factors:

a. movement, region and interaction.

b. climate, location and movement.

c. location, location and location.

d. interaction, location and region.

e. population, climate and interaction.

ANS: c

Short Answer Questions

1.
Why should nations engage in international business?

ANS: Failure to become a part of the global market ensures a nation of declining economic influence and a deteriorating standard of living for its citizens.  Successful participation in international business holds the promise of improved quality of life and a better society.

2.
Why should firms enter the international marketplace?

ANS: The international marketplace offers numerous opportunities to companies.  Not only does the global marketplace offer a greater pool of potential customers, but firms also have a greater choice of suppliers.  In addition, higher levels of production offer the chance to gain greater production efficiencies.  Moreover, by being an active participant in foreign markets, firms can challenge their competitors not only at home, but also abroad.

3.
Discuss the notion of international business being as much an art as it is a science.

ANS: Subject to constant change, international business is as much an art as a science.  However, success in the art of business is dependant on a firm grounding in the scientific aspects of business.
4.
What issues should a firm consider when venturing into the international marketplace?

ANS: Firms should consider answers to questions such as: How will our idea, good, or service fit into the international market?  Should we enter the market through trade or investment? Should we obtain supplies domestically or abroad? What product adjustments are necessary to be responsive to the local market? What threats from global competition should be expected and how can these threats be counteracted?

5.
Discuss the role played by international business in the formation of the Roman Empire.

ANS: The Roman Empire used the Pax Romana, or Roman Peace as a major stimulus.  They implemented the use of a common coinage, which simplified business transactions; a systematic law; central market locations; and an effective communication system.  All of these actions contributed to the functioning of the marketplace and a reduction of business uncertainty.
6.
Discuss international business’ role in the growth of the British Empire.

ANS: The British Empire grew mainly through its effective international business policy, which provided for efficient transportation, intensive trade and an insistence on open markets. 

7.
Discuss the notion of withholding the benefits of international business as a valuable national policy tool. 

ANS: Withholding the benefits of international business is economic coercion.  By denying countries access or opportunities to participate in international business, that country is deprived of valuable revenues.  Moreover, the country’s trading partners are also affected due to global interdependencies.  

8.
Explain how international business has brought a global reorientation in production strategies.


ANS:  A few decades ago, it would have been thought impossible to produce parts for a car in more than one country, assemble it in another and sell it in countries around the world.  Today, such global strategies, along with production and distribution sharing, are common.  This means that consumers, union leaders, policymakers and sometimes even the firms themselves are finding it increasingly difficult to define where a particular product is made.

9.
How has the role of manufactured goods changed over the course of the last sixty years?


ANS:  From the 1960’s up till now, the importance of manufactured goods increased worldwide.  More recently, there has been a shift of manufacturing from industrialised states like the United States, Britain and Germany to emerging economies like Malaysia, China and Thailand.

10.
World trade is becoming more important to the Britain, while at the same time the Britain is becoming less important to world trade.  Explain.

ANS: As more and more foreign companies enter the British market, British companies face increasing levels of competition.  In order to maintain and expand their level of output, British  firms need to seek foreign markets—hence the reason why world trade is becoming more important to the United Kingdom. Simultaneously, more and more countries are emerging as active participants in global markets, causing Britain to lose some of its overall importance in world trade.

11.
Discuss the impact and importance of international business on the microeconomic level.

ANS: On the microeconomic level, participation in international business can help firms achieve economies of scale and profits that cannot be achieved in domestic markets.  Global markets offer more potential customers.  In addition, as production is increased, firms move along the learning curve more quickly, increasing their overall efficiency and providing managers with the opportunity to sharpen their competitive skills.

12.
In order for a business to succeed globally, what three concepts are necessary?

ANS:  What is needed is an awareness of global developments, an understanding of their meaning and a development of the capability to adjust to change.

13.
What are the five fundamental themes used to structure geographic questions and provide answers for those questions?

ANS: The five geographic themes are (1) location, (2) place, (3) interaction, (4) movement and (5) region.  The five themes are neither exclusive nor exhaustive.  They complement other disciplinary approaches for organizing information.

14.
The international businessperson seeking to take advantage of opportunities present in different places learns not to view each place separately.  Explain.

ANS: How a place functions depends not only on the presence and form of certain characteristics but also on interactions among those characteristics.  Fortuitous combinations of features can spur a region’s economic development. 
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